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Cluster: 0254 ptr; resid: 0.23; r/c: 28/82

x.range

upstream meme PSSM #1; e=4e+04

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.4e+04

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16
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1379118398 21316

12280

31465
33840

34902

34995

35562

36392

40200

4280843034

43037

43146

43438

43658

45124

45297

45503
45927

46105

46566

46687

46908

47134

49264
8511

string −500 −400 −300 −200 −100 −1
8511−0.03

35562−0.03
43037−0.06
12280−0.14
31465−0.15
34995−0.17
46105−0.31
40200−0.37
13791−0.41
42808−0.45
43438−0.60
46687−0.80
46908−0.86
45927−1.15
49264−1.21
43658−1.51
46566−3.75
45503−4.29
33840−4.91
45124−4.96
47134−5.06
21316−5.11
43034−5.59
34902−5.74
43146−5.76
18398−5.83
36392−6.02
45297−6.05

log10(P) upstream meme1 2 log10(P.clust)=−2.55; 28 seqs; 28 uniq
c(0.5, 2.5)
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